



**Vendor Ranking** 

Page 1 of 1

**Letting:** 06240328 March 28, 2024 11:00 AM **Call Order:** 009 **Contract:** Z6163-R0

District: District 6 Counties: MIAMI-DADE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS

Project(s): 4543801F201 (\*)

Contract Desc: EMERGENCY CANDIDATE MIAMI-DADE COUNTY DISASTER RECOVERY

Ran	k Vendor	Bid Type	Bid Status	Total Bid	Percent Of Low Bid
1	AUM CONSTRUCTION INC.	Responsive	Winning bid	\$23,697,500.00	100.00%
2	HORSEPOWER ELECTRIC, INC.	Responsive	Winning bid	\$26,620,500.00	112.33%
3	SIGNAL TECHNOLOGY AND INSTALLATION CORP.	Responsive	Winning bid	\$28,646,315.45	120.88%

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.





**Tabulation of Bids** 

Page 1 of 11

**Letting:** 06240328 March 28, 2024 **Call Order:** 009 **Contract:** Z6163-R0

District: District 6 Counties: MIAMI-DADE Fed Aid No: N/A

Contract Time: 365 CALENDAR DAYS Project(s): 4543801F201 (\*)

Contract Descr: EMERGENCY CANDIDATE MIAMI-DADE COUNTY DISASTER RECOVERY

This is an Emergency (Pre-Event) contract to provide Generator Installation, Refueling Operations and Traffic Signal Repair Operations pursuant to a Governor's and/or President's Declaration of a State of Emergency in Miami-Dade County within District Six. The Department, at its sole discretion, may award one or more contracts. If more than one award is made, award will be based on the lowest responsive bid then the next lowest responsive bid and so forth and activated in the same order based on Contractor availability and ability to satisfy the needs of the Department at the time contacted. No quantities are guaranteed and there will be no unit cost adjustment for quantities required over or under the estimated quantities.

This contract will be awarded based on the total amount of \$0 (zero) dollars and not the contractor's bid total. Additional funds will be added to the contract as needed.

The Proposal Schedule of items for Emergency Signal Repair Must be submitted with your bid as an attachment.

#### PRE-QUALIFICATION IS REQUIRED TO BID ON THIS PROJECT

FHWA 1273 and Davis Bacon Wage Rates are applicable for this Contract.

The contractor shall provide a letter to the Department at the time of bid from a surety authorized to do business in the State of Florida verifying the contractor is bondable in the State of Florida. For the purposes of this contract the dollar amount is established at \$2,000,000.00

Submit your questions through Bid Question and Answer website and their respective answers will be also posted at this site.

Please use the link below: https://fdotwp1.dot.state.fl.us/BidQuestionsAndAnswers/Proposal.aspx/SearchProposal

ORDER BID DOCUMENTS: To request Bid Documents please use the link below:

#### https://cpp.fdot.gov/

Line No / Item ID Alte	rnate Quantity Units	(1) AUM CONST	RUCTION INC.	(2) HORSEPOW	,	` '	TECHNOLOGY LATION CORP.
( ) indicates item is bid as Lump S	Sum	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECTION: 0001	(TRAFFIC COI	NTROL (MH					
0005 0102108	50.000	2,000.00000	100,000.00	2,500.00000	125,000.00	2,164.02000	108,201.00
WOOD POLE, MAX 50', FURNIS INSTALL TEMPORARY POLE, F EVENT CONTRACTS ONLY							





## **Tabulation of Bids**

Page 2 of 11

Letting	<b>j:</b> 06	6240328	March 28, 2024	4 Cal	II Order: 009		Contract:	Z6163-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) AUM CONST	RUCTION INC.	(2) HORSEPOW IN			ECHNOLOGY ATION CORP.
	•	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(TRAFFIC CON	ITROL (MH					
GUY WIF		OD OR CONCR INSTALL, FOR ACTS ONLY		1,000.00000	50,000.00	1,500.00000	75,000.00	970.37000	48,518.50
NATURA CONTRA	0129 1 1 AL DISASTER ACTS, CREW DNING: DO NO		1.000 ED	2,500.00000	2,500.00	2,500.00000	2,500.00	2,500.00000	2,500.00
0020 CONDUI TRENCH		& INSTALL, OP	2,000.000 EN LF	30.00000	60,000.00	30.00000	60,000.00	34.56000	69,120.00
CONDUI	0630 2 14 IT, FURNISH GROUND	& INSTALL,	150.000 LF	60.00000	9,000.00	50.00000	7,500.00	102.30000	15,345.00
SIGNAL RECONS	0632 7 1 CABLE- NEW STRUCTED IN H & INSTALL	/ OR NTERSECTION	100.000 PI	10,000.00000	1,000,000.00	25,000.00000	2,500,000.00	14,886.69000	1,488,669.00
SIGNAL	/REPLACE/O	THER, FURNIS	5,000.000 LF H &	20.00000	100,000.00	50.00000	250,000.00	10.50000	52,500.00
SPAN W	0634 4152 /IRE ASSEMB DIAGONAL	BLY, F&I, TWO	10.000 PI	6,000.00000	60,000.00	12,000.00000	120,000.00	5,312.40000	53,124.00
SPAN W	0634 4153 /IRE ASSEMB BOX OR DRO	BLY, F&I, TWO P BOX	10.000 PI	10,000.00000	100,000.00	15,000.00000	150,000.00	10,570.08000	105,700.80





## **Tabulation of Bids**

Page 3 of 11

Letting	g: 0624	10328	March 28, 2024	4 Cal	II Order: 009		Contract:	Z6163-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) AUM CONST	RUCTION INC.	(2) HORSEPOW IN		(3) SIGNAL T AND INSTALL	ECHNOLOGY ATION CORP.
	dicates item is bid a	s Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0	001	(TRAFFIC CON	ITROL (MH					
	0634 4154 VIRE ASSEMBLY OTHER TYPE	, F&I, TWO	10.000 PI	8,000.00000	80,000.00	14,000.00000	140,000.00	9,594.24000	95,942.40
SINGLE	0634 4341 VIRE ASSEMBLY POINT ATTACH NDICULAR		3.000 PI	5,000.00000	15,000.00	8,500.00000	25,500.00	3,500.00000	10,500.00
	0634 4342 VIRE ASSEMBLY POINT ATTACH		2.000 PI L	6,000.00000	12,000.00	9,500.00000	19,000.00	3,500.00000	7,000.00
	0634 4343 VIRE ASSEMBLY POINT ATTACH		2.000 PI NS	8,000.00000	16,000.00	10,000.00000	20,000.00	3,500.00000	7,000.00
	0634 4351 VIRE ASSEMBLY ATTACH, PERPE		2.000 FWO PI	6,000.00000	12,000.00	9,500.00000	19,000.00	2,845.45000	5,690.90
	0634 4352 VIRE ASSEMBLY ATTACH, DIAGO		3.000 FWO PI	9,000.00000	27,000.00	10,500.00000	31,500.00	5,690.89000	17,072.67
	0634 4353 VIRE ASSEMBLY ATTACH, BOX SF		3.000 FWO PI	10,000.00000	30,000.00	12,500.00000	37,500.00	5,690.89000	17,072.67
0085 SPAN W	0634 4400 VIRE ASSEMBLY	, ADJUST	10.000 PI	4,000.00000	40,000.00	5,000.00000	50,000.00	5,690.88000	56,908.80



Page 4 of 11

# Florida Department of Transportation



# **Tabulation of Bids**

Letting	g: (	06240328 M	larch 28, 2024	1 Cal	II Order: 009		Contract:	Z6163-R0	
	No / Item ID Description		Quantity Units	(1) AUM CONST	RUCTION INC.	(2) HORSEPOW IN	/ER ELECTRIC, C.		ECHNOLOGY ATION CORP.
() ind	dicates item is i	bid as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001 (	TRAFFIC CON	TROL (MH					
	0634 4600 VIRE ASSEM REMAIN	BLY, REMOVE-	10.000 PI	3,000.00000	30,000.00	2,500.00000	25,000.00	5,690.88000	56,908.80
0095 FIBERG INSTAL		ATOR, FURNISH	2,000.000 & LF	20.00000	40,000.00	50.00000	100,000.00	317.77000	635,540.00
0100 PULL & COVER		(, F&I, 13" x 24"	20.000 EA	1,200.00000	24,000.00	2,000.00000	40,000.00	3,723.70000	74,474.00
0105 JUNCTI AERIAL		RNISH & INSTALI	20.000 L, EA	1,000.00000	20,000.00	1,000.00000	20,000.00	2,114.02000	42,280.40
<b>OVERH</b>	IEAD METER ACTOR FRO	R SERVICE, F&I, PURCHASED BY	25.000 AS	6,000.00000	150,000.00	10,000.00000	250,000.00	8,673.12000	216,828.00
UNDER		R SERVICE, F&I, ETER PURCHASI	25.000 AS ED	6,000.00000	150,000.00	20,000.00000	500,000.00	7,697.28000	192,432.00
0120 ELECTI & INSTA		CE WIRE, FURNI	2,500.000 SH LF	10.00000	25,000.00	20.00000	50,000.00	6.27000	15,675.00
		ERATOR - PORTA I; FDOT FURNISH		3,000.00000	360,000.00	3,500.00000	420,000.00	7,587.84000	910,540.80





## **Tabulation of Bids**

Page 5 of 11

Letting:	06240328	March 28, 202	4 Cal	II Order: 009		Contract:	Z6163-R0	
	No / Item ID Alterna	ate Quantity Units	(1) AUM CONST	RUCTION INC.	(2) HORSEPOW IN		(3) SIGNAL TI AND INSTALL	
() indic	cates item is bid as Lump Sui		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 0001	(TRAFFIC CON	NTROL (MH					
EMERGE	0639 4 5 NCY GENERATOR - LE, MONITOR & REFUEL	10,000.000 HR	300.00000	3,000,000.00	300.00000	3,000,000.00	645.24000	6,452,400.00
EMERGE	0639 4 7 NCY GENERATOR - HAI BINET RETROFIT	100.000 RNESS EA	1,200.00000	120,000.00	2,500.00000	250,000.00	2,861.86000	286,186.00
PRESTRE	0641 212 ESSED CONCRETE POL I SERVICE POLE	20.000 E, F&I, EA	3,500.00000	70,000.00	3,500.00000	70,000.00	5,287.34000	105,746.80
	0646 1 11 JM SIGNALS POLE, PED	100.000 ESTAL EA	3,000.00000	300,000.00	4,500.00000	450,000.00	5,695.52000	569,552.00
VEHICUL	0650 111 AR TRAFFIC SIGNAL, I & INSTALL ALUMINUM, I, 1 WAY	200.000 AS	1,000.00000	200,000.00	1,500.00000	300,000.00	1,071.06000	214,212.00
VEHICUL FURNISH	0650 112 .AR TRAFFIC SIGNAL, I & INSTALL ALUMINUM, I, 2-4 WAY	200.000 AS	1,500.00000	300,000.00	2,500.00000	500,000.00	1,846.26000	369,252.00
VEHICUL	0650 114 AR TRAFFIC SIGNAL, I & INSTALL ALUMINUM, I, 1 WAY	1,400.000 AS	3,000.00000	4,200,000.00	3,000.00000	4,200,000.00	2,648.36000	3,707,704.00
VEHICUL FURNISH	0650 118 .AR TRAFFIC SIGNAL, I & INSTALL ALUMINUM, I STRAIGHT, 1 WAY	800.000 AS	4,000.00000	3,200,000.00	4,500.00000	3,600,000.00	3,146.04000	2,516,832.00





## **Tabulation of Bids**

Page 6 of 11

Letting	<b>y:</b> 06	240328	March 28, 2024	4 Cal	II Order: 009		Contract:	Z6163-R0	
	No / Item ID Description	Alternat	e Quantity Units	(1) AUM CONST	RUCTION INC.	(2) HORSEPOW IN			ECHNOLOGY ATION CORP.
() ind	licates item is bio	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(TRAFFIC CON	TROL (MH					
<b>FURNISI</b>	0650 124 LAR TRAFFIC H & INSTALL I I TOP, 3 SEC	POLYCARBO	100.000 AS NATE	3,000.00000	300,000.00	3,000.00000	300,000.00	5,100.00000	510,000.00
FURNISI WITH AL	0650 125 ILAR TRAFFIC H & INSTALL I LUMINUM TOF N, 2-4 WAYS	POLYCARBO		3,000.00000	300,000.00	5,000.00000	500,000.00	3,757.72000	375,772.00
<b>FURNISI</b>	0650 129 ILAR TRAFFIC H & INSTALL I IIN, 5 SECTIO	POLYCARBO		4,000.00000	400,000.00	5,000.00000	500,000.00	2,975.86000	297,586.00
0185 VEHICU	0650 150 ILAR TRAFFIC	SIGNAL, INS	10.000 TALL AS	2,500.00000	25,000.00	2,000.00000	20,000.00	3,500.00000	35,000.00
	0650 1 60 LAR TRAFFIC E- POLES TO		1,200.000 AS	600.00000	720,000.00	100.00000	120,000.00	569.09000	682,908.00
RELOCA	0650 1 70 ILAR TRAFFIC ATE- INCLUDE ALLATION		350.000 AS AND	2,000.00000	700,000.00	2,500.00000	875,000.00	2,290.44000	801,654.00
	0650 180 LAR TRAFFIC MODIFY EXIS		10.000 AS L	1,500.00000	15,000.00	2,000.00000	20,000.00	1,284.56000	12,845.60



Page 7 of 11

# Florida Department of Transportation



## **Tabulation of Bids**

Letting	<b>g</b> : 06	6240328 N	March 28, 2024	4 Cal	Il Order: 009		Contract:	Z6163-R0	
	No / Item ID Description	Alternate	Quantity Units	(1) AUM CONST	RUCTION INC.	(2) HORSEPOW			ECHNOLOGY ATION CORP.
( ) inc	dicates item is bid	d as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION:	0001	(TRAFFIC CON	ITROL (MH					
REPAIR & INSTA		AUXILIARIES, ETROFIT- FURN TE- BLACK WI		1,200.00000	2,400,000.00	1,500.00000	3,000,000.00	1,189.34000	2,378,680.00
	0653 1 11 TRIAN SIGNAL L LED COUNT	., FURNISH & DOWN, 1 WAY	1,000.000 AS	2,000.00000	2,000,000.00	1,500.00000	1,500,000.00	1,812.70000	1,812,700.00
	0653 1 12 TRIAN SIGNAL L LED COUNT	_, FURNISH & DOWN, 2 WAY	500.000 AS	2,500.00000	1,250,000.00	2,300.00000	1,150,000.00	2,665.96000	1,332,980.00
		., REMOVE PEI STAL TO REM <i>A</i>		500.00000	100,000.00	25.00000	5,000.00	379.40000	75,880.00
MICRO\	0660 351 E DETECTION WAVE, ADJUS ET EQUIPMEN	T & MODIFY,	3.000 EA	3,000.00000	9,000.00	200.00000	600.00	1,430.93000	4,292.79
MICRO\	0660 3 52 E DETECTION WAVE, ADJUS GROUND EQI	T & MODIFY,	2.000 EA	5,000.00000	10,000.00	2,500.00000	5,000.00	2,948.50000	5,897.00
		N SYSTEM- VID BINET EQUIPM		3,000.00000	6,000.00	200.00000	400.00	1,430.93000	2,861.86
	T/MODIFY ABO	N SYSTEM- VID DVE GROUND	3.000 EO, EA	10,000.00000	30,000.00	2,500.00000	7,500.00	2,569.11000	7,707.33



Page 8 of 11

# Florida Department of Transportation



## **Tabulation of Bids**

Letting:	0624	0328 Ma	arch 28, 2024	1 Cal	II Order: 009		Contract:	Z6163-R0	
	o / Item ID escription	Alternate	Quantity Units	(1) AUM CONST	RUCTION INC.	(2) HORSEPOW			ECHNOLOGY ATION CORP.
() indica	ates item is bid as	Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
	SECTION: 00	01 (T	RAFFIC CON	TROL (MH					
PEDESTR	0665 111 RIAN DETECTOI STANDARD	R, FURNISH 8	50.000 k EA	500.00000	25,000.00	500.00000	25,000.00	574.56000	28,728.00
INTERSEC	0670 4 1 CTION CONTRO LLER ASSEMBL		5.000 AS &	5,000.00000	25,000.00	4,000.00000	20,000.00	3,469.25000	17,346.25
TRAFFIC	0670 5112 CONTROLLER A, 2 PREEMPTIO		10.000 AS	60,000.00000	600,000.00	60,000.00000	600,000.00	70,000.00000	700,000.00
TRAFFIC	0670 5600 CONTROLLER CONTROLLER		10.000 AS ET	1,500.00000	15,000.00	500.00000	5,000.00	5,501.19000	55,011.90
TRAFFIC	0670 5700 CONTROLLER E- MINOR REPA		3.000 AS	5,000.00000	15,000.00	10,000.00000	30,000.00	7,000.00000	21,000.00
CONTROL REPLACE	0678 1104 LLER ACCESSO EXISTING- FUI LOAD SWITCH		100.000 EA	1,500.00000	150,000.00	1,000.00000	100,000.00	856.37000	85,637.00
CONTROL REPLACE	0678 1109 LLER ACCESSO EXISTING- FU TYPE 3 TIME SV	RNISH AND	10.000 EA	2,000.00000	20,000.00	3,500.00000	35,000.00	3,008.69000	30,086.90
CONTROL REPLACE	0678 1110 LLER ACCESSO EXISTING- FU TYPE 4 TIME SV	RNISH AND	10.000 EA	2,000.00000	20,000.00	4,500.00000	45,000.00	3,008.69000	30,086.90





## **Tabulation of Bids**

Page 9 of 11

Letting:	06	240328	March 28, 2024	1 Cal	l Order: 009		Contract:	Z6163-R0	
	o / Item ID escription	Alternate	Quantity Units	(1) AUM CONST	RUCTION INC.	(2) HORSEPOW			ECHNOLOGY ATION CORP.
() indica	ates item is bid	as Lump Sum		Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
;	SECTION:	0001	(TRAFFIC CON	TROL (MH					
SIGN PAN	0700 3201 NEL, FURNIS AD MOUNT, U	H & INSTALL JP TO 12 SF	50.000 EA	3,000.00000	150,000.00	1,500.00000	75,000.00	2,822.83000	141,141.50
0290 0	700 3204		50.000	6,000.00000	300,000.00	2,500.00000	125,000.00	9,903.94000	495,197.00
	NEL, FURNIS AD MOUNT, 3	H & INSTALL 31-50 SF	EA						
0295 0	700 3501		50.000	1,500.00000	75,000.00	500.00000	25,000.00	1,841.55000	92,077.50
SIGN PAN	NEL, RELOC <i>i</i>	ATE, UP TO 12	2 SF EA						
0300 0	700 3601		50.000	500.00000	25,000.00	10.00000	500.00	379.40000	18,970.00
SIGN PAN	IEL, REMOVI	E, UP TO 12 S	SF EA						
0305 0	700141111		1.000	20,000.00000	20,000.00	20,000.00000	20,000.00	11,896.11000	11,896.11
AC POWE	RED, F&I GF N, UP TO 12	/ SIGN ASSEI ROUND MOUI SF OF STAT	NT,						
0310 0	700141121		1.000	22,000.00000	22,000.00	23,000.00000	23,000.00	12,284.49000	12,284.49
<b>AC POWE</b>	RED, F&I GF CONS, UP TC	/ SIGN ASSEI ROUND MOUI ) 12 SF OF ST	NT,						
0315 0	700141314		1.000	20,000.00000	20,000.00	30,000.00000	30,000.00	11,037.37000	11,037.37
AC POWE	RED, F&I O\	/ SIGN ASSEI /ERHEAD MC OF STATIC S	UNT,						





## **Tabulation of Bids**

Page 10 of 11

Letting:	06240328	March 28, 2024	4 Cal	II Order: 009		Contract:	Z6163-R0	
Line No / Iter		ite Quantity Units	(1) AUM CONST	RUCTION INC.	(2) HORSEPOW INC			TECHNOLOGY LATION CORP.
-	m is bid as Lump Sum	า	Unit Price	Ext Amount	Unit Price	Ext Amount	Unit Price	Ext Amount
SECT	ON: 0001	(TRAFFIC CON	ITROL (MH					
SOLAR POWER	HWAY SIGN ASSI ED, F&I GROUND CON, UP TO 12 SI		23,000.00000	23,000.00	25,000.00000	25,000.00	15,633.58000	15,633.58
SOLAR POWER	HWAY SIGN ASSI ED, F&I GROUND ACONS, UP TO 12		25,000.00000	25,000.00	26,000.00000	26,000.00	15,986.83000	15,986.83
0001 TRAFFIC	CONTROL (MH)	Section Totals:		\$23,697,500.00		\$26,620,500.00		\$28,646,315.45
	Contract (	Grand Totals:		\$23,697,500.00		\$26,620,500.00		28,646,315.45



04/16/2024

#### **Tabulation of Bids**

Page 11 of 11

**Letting:** 06240328 March 28, 2024 **Call Order:** 009 **Contract:** Z6163-R0

NOTE: Failure to file a protest within the time prescribed in section 120.57(3), Florida Statutes, or failure to post the bond or other security required by law within the time allowed for filing a bond shall constitute a waiver of proceedings under chapter 120, Florida Statutes.